CBSE QUESTION PAPER
CLASS-XII

BIOLOGY (Theory)
sia fasFm (JAzR®)

&

Time allowed : 3 hours < ; Maximum Marks : 70
fyfRa gug : 3 qve fad 37% : 70
.
General Instructions :
(i)  All questions are compulsory.
(i) This question paper consists of fi ions A, B, Cand D. Section A contains
8 questions of one mark eac ec is of 10 questions of two marks each,
Section C is of 9 questions of t r ch and Section D is of -3 questions of five
marks each.

ever, an internal choice has been provided in one
ion of 3 marks and all the three questions of § marks
pt only one of the alternatives in such questions.

(iit) There is no overall ch
question of 2 mark 2. gL
weightage. A student has to'att

(iv) Wherever neces

= 3T :

G qft 5eT fart &

(i) §9 Y99-97 § 9R @E A,B,C 3N D & | @ A ¥ 8 597 & ¥ 9% ¥ @&
H5 8 @SB 10 WA so% 3 @ s 8. @s Cc H 9 y97 & fod
yA% ¥ 7 3F & 7 e D 7 3 ¥¥7 & o y9F & ula 37F & 1

(i) BT THT THA-f35cT (3T q59) Iy Tgt 8 | [T o, 2 &l ar? T §97
4 3 3 act TF 59T H IR 5 3HF et G5 dAl v § Had T57-fawey 7
T E ) OF 3N F A # 39T @F & faFey T IW TR |

(v) SEF A EVIF §l, FAC T AT JRG K- U gYfaa &7 F FqAE &

e diagrams drawn should be neat and properly labelled.
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SECTION A
gug A

Pick out the ancestral line of Angiosperms from the list given below :
Conifers, seed ferns, cycads, ferns.

G T @ AR g () # s a § s e 7 2
TR, 9 &, IR, W |

When and why do some animals go into hibernation ?

5 e Mafferaa & e § &9 ok = o 9 ¥ 2

What is the economic value of Saccharum officinarum ?

G STHIGHT F AMfhF e TaRY |

What does the organisation GEAC check with reference to genetic engineering ?
ﬂaﬁﬁms’iﬁﬁaﬁ%mf&wmmm%ﬁﬁﬁaﬁaﬂ?ﬁp@

In what way are monocytes a cellular barrier in immunity ?

Yeen # wwem] (AAEEE) R TR @ REE T Fd w § 2

What are ‘a’ and ‘b’ in the nucleotide with purine gepre below ?

About 200 species of Cichlid fish became extinct when a particular fish was introduced in
Lake Victoria of Africa. Name the invasive fish.

FHF H AR fid ¥ @ W wod & [y W | e wsfaa ®t amm
200 TER faqa & T | v FE W TSA F AW TARC |



8. What is the significance of the process of RNA interference (RNAi) in eukaryotic
organisms ?

Ghsa (ZHRAfH) M ¥ RNA TR (RNAD) 3 95T &1 F1 9w ? 2

SECTION B
@us B

9. Name the blank spaces a, b, ¢ and d from the table given below :

Item What it represents in the plant
1) Pericarp a
(i) b cotyledon in seeds of grass family

(iii)

Embryonal axis

[

(iv)

d

remains of nucellus in a seed

frafafad aRoft § @relt ™E o, b, ¢ T d F A9 FART :

Lo wﬁﬁ%ﬁqmmmﬂmg ,
@ s a u_
(i) b amgm%a‘m‘fm@
Gi)  gofg 3y X
(iv) d ds §

&

10. In a particular plant species, majority ofithe plants bear purple flowers. Very few plants
bear white flowers. No intermedi olours’ are’observed. If you are given a plant with
purple flowers, how would you t it is a pure breed for that trait ? Explain.

_ OR
A woman with B bloo ou ried a man with A blood group. They had 2 sons and
both had O group. S possibility of such an inheritance. List the alleles involved
in determining the blo
el TF AW wivlis % Sfuser del F T &1 G od § | U 9gd & A
Y § 9 W O g e § | 3 Fi off meadt 1 98 U 9 | A s
o fe e e T g o R #, @ o W@ fFE sER giied w0 5 g
qur 39 favms (32) & fau g % & @ W& ? wmanRy |

‘ Aqgar

Th UE B AN UF Hfecl 4 ATH 9% 9t ¥ § fqa® ffn | 9% @ @ 397 g%

o i F T TR 0 41 | T TER F avmIG B EA qisT | 39 T W
fraftor # fafeq gofasfeadl (i) & g= TR |

= d



11.

12.

13.

14.

15.

Name the interaction in each of the following : 2
(a) Clown fish living among the tentacles of sea anemone

(b)  Sucker fish lives attached to the shark

(¢) Smaller barnacles disappeared when Balanus dominated in the coast of Scotland

(d) Wasp pollinating fig inflorescence

frfafaa # @ v% # St 8 It gwehwRar & oAm fafev

(@ T WA F wefel & 9w At FaR ot

b) & R FI9a 907 #Selt F @ 9@ A=W

(© AT F TIEAE W JoHE & T & I3 W B afaal MA@ S
@ 3R F [TRT F addl R W {A

Due to undue peer pressure a group of adolescents started using opioids intravenously.
What are the serious problems they might face in future ? 2

IR fagdse & aaﬁﬁ;amaaamwnﬁﬁﬁhé;mqug & 3 I
Yo7 WY W & |ﬁﬁ@”ﬁ3¢%¥mﬁiﬁm¢mvwh g, fafaw |

Construct a grazing food chain and detritus food chamQ following, with 5 links
each :

Earthworm, bird, snake, vulture, grass, gras per, frog, decaying plant matter.

LIS ﬁq - w® mﬁ ¥ qﬁpma'aﬁahczf} S -5l IR T WG

ggdt Uy gt |

How do surgical procedures pre ion in humans ? Mention the way it is

achieved in human males. 2
aAat e st mmtvﬁﬂ% 7qmaaﬁi?w3ﬁmxmmtmvm
s 8, faf@y |

The following illust

the linking of DNA fragments : 2

a DNA b DNA
LIU U ’CPQ o\
/\,< ﬂ [—l I_l ﬂ EcoRI

(i) Name ‘@’ and b’
(ii) Complete the palindrome which is recognised‘by EcoRI.

(iii) Name the enzyme that can link the two DNA fragments.



16.

17.

180

9 fir o1 ® M@ § DNA @Ol & €9 @ S i R

a DNA b DNA

/‘%UW

(1]

M @3N vH AW fafau |
(i) EcoRI ¥ TgaM 9 dt fqdmigsn &t @ SR |
(i) ¥9 & DNA @UEl & WE G4 act USRH & AW faf@y |

EcoRI

How do Darvin and de Vries differ in their views on the mechanism of evolution of life
on earth ? ‘

vt W ST & fawg & frafafy & fava & fqq aor fo e & foudd & a1 i
d ?

State the use of the following enzymes/acids produced by the micr N
(i) Lipase ' 6
(ii) Lactic acid

(ili)  Streptokinase & o

(iv) Pectinase

TEASal g 3 g A | | & IYENT ARy
) RIS "

Gy WAfes Q

(i) IR Q'

(iv) UfRAS

(a) Name the green house gases that caused global warming.

(b) Which of them has caused ozone hole and how ?

(a) ‘g’?%ﬁa%(lﬂ?m)W%wmmmm(@maﬁmg&n
|

b 3T QA 5 IO ASE fog o R FF =, fofEw |

2



SECTION C
Qg C

19. Study the figure given :

(i) Pick out and name the cells that undergo spermiogenésis.
(i) Name ‘a’ and ‘b’ cells. What is the difference betweer@\th reference to the

number of chromosomes ?
(iii) Pick out and name the motile cells. C
(iv) What is ‘" cell ? Mention its function. '
(v) Name the structure of which the given diaﬂs .a part.

I fou w1 ®© fog @1 oremmq Fifw 6

2

@ Fo Pt F e e (SiEeafa) @ @ 3R ety sk 3% AW
fafga |

Gi) ‘o 3R v et F 9 fafee | PRE F den F W § @ A § F; oW
g wRT

Gi) fasha Ffyed ifew ok 39 TW fafaw |
Gv) FIEH ¢ & ? TH FF TARY |
(v T8 I 59 =9 &1 @ Ay 2, S§w W faf@y |



20. Define totipotency of a cell. List the requirements if the objective is to produce soma clones
of a tomato plant on commercial scale. 3

Fifywr A ivkear & oo fafae | Ak T TR & WY F e W) W), FE
() A S @ F-F AW, g R |

21. (a) One of the codons on mRNA is AUG. Draw the structure of tRNA adapter molecule
for this codon.

(b) Name the RNA polymerase that transcribes tRNA in eukaryotes.

(¢0 What is uniqile about the amino acid this tRNA binds with ? . 3

() mRNAR & FH AUG 2 |3Haﬁmé;fmmmarﬁﬂa;wlaﬁmm
3G FARTC |

® 39 E%NAm 1 AW fafgy FeR gF=fedl § (RNA &1 oG (ialmem)
BT |

(¢ 38 tRNA TG TN o7 & Wi 39T FLT @, mmmmw% ?
22, Study the graph glven below :

P S R »{Q |

b C)
Time () —> ®

- (1) What does the curve ‘a’ represent in the@ ?”What does ‘K’ stand for ?
(ii) Which one of the two curves is ¢

animal population ?
lon of a species of deer if there are no

(iii) Which curve would depict the ulat
predators in the habitat ? y is it%so ?

Population density (N) —>

more realistic one for most of the

g 1) —>
@ TEHGH FmIAae ? o w3 g2
G TAA T A A 50 N Afysw gt gafedl & fou fus q91d (arafas)
T S R ?
i) I Y 59 @ O N W gn wivie K wwy # ol wwr smem s
T 3 g & I o Wl 7@ 2 X = dar @ 2



23.

24,

- 25,

26.

A vector is engineered with three features which facilitate its cloning within the host cell.
List the three features and explain each one of them.

OR

Why are restriction endonucleases so called ? Explain their role as ‘molecular scissors’
in recombinant DNA technology.

TF HaRSE (IF) F W A ah ¥ g 9 A FoNERa fFE om s et Sifte
& i IgE FA B GERA TR § | 3T A ol @ gE SR a9 3
& favg § wHERw | |

AT
sfre (fgRA) (ERfRT 3t 98 AW & T 2 [E DNA S
‘afras FadEl F ®9 § T S IEIEC |

What is hnRNA ? Explain the changes hnRNA undergoes during its processing to form
mRNA.

hnRNA 1 &1 2 ? haRNAH &9 a1t 39 WRed &1 iy, mRNA 591

Name the malarial parasite. Where do the gametocytes @ parasite develop ? Give a
flow chart of its life-cycle in this host.

ot wEEl &1 AW fafE@e | 3 weeEt i (ieraige) FEt fawfaa
AR § 2 3 WA F AR 3F aA-9% Ya® 9 &Ry |

(a) Expand BOD.

(b) At a particular segmen 1 near a sugar factory, the BOD is much higher
than the normal level. 3 it indicative of ? What will happen to the living
organisms in this part i

(¢)  Under what co % will the BOD be lowered in the river ? How will it affect the
aquatic life ?

(ay BOD & [-TU faf@w |
b TH PR b & iy Tgdt 78 F & a9y @us § Bop & W ¥ wgA

IS R AT TN | FE Y aIa & G3d 2 @ 2 38 & 39 om
¥ ® ® FE woa a2

¢ f&7 offeafadi & 3@ 7 &1 BoD R o7 S ? @ F FAoE StEaq H g8
frg YHR Twifad Fam ?



27. Study the pedigree chart given below showing the inheritance pattern of a human trait
and answer the questions that follow :

III

(a) Give the genotype of the parents shown in generation I and of the so d daughter
shown in generation II. _

.(b) Give the genotype of the daughters shown in generation IIIO\,'

(¢) Is the trait sex-linked or autosomal ? Justify your ans

Ry 1 R Ech wé § A R Q@) # Femh ol R 1 s
A Y R I B T R WA F TN : | |

II

IS A

@ U 1 ¥ gofe T - & qor Ot o ¥ <O T 3 @ o O & Shassy
TART | |

b) W qm N F e ¥ gl @ simew fafag |

(@ T T faunE fom-weers @ @ fR S 2 o S ¥ vy F 7 W
FSQ |
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29,

SETION D
@us D

(a) Give a schematic representation of oogenesis in human female indicating the
chromosomal number at each step. Mention at what stage of female life does each
phase occur.

(b) Where would you look for coleoptile and coleorhiza ? What function do they
perform ?

OR

(a) Draw a labelled schematic representation of a mature embryo sac of an angiosperm.

(b) Explain the role of ovarian hormones in inducing changes in the uterus during
menstrual cycle.

(c) What triggers release of oxytocin at the time of parturition ?

(a) WHT AT K e A IS AT # TE AT fegor I T&% WO |
TRE & § R F | T @ @R R TR F A St & fFg
T W e 2 |

b JER-I (Ffeerd) au [wigR-aa (FfAEE Y Fgl G GHd § 2

(a) U gaerst (Aared) & qftvem %mﬁ«mmm.

®) T T F A v § g9 )@%Waﬁﬁﬁﬁ%ﬁm@ﬁﬁfﬁﬁ
e g9 | \

© TG % gHg AR A I

Explain the steps involve Q production of genetically engineered insulin. Why is
insulin thus produced f& d.to the one produced from non-human sources ?

OR

(a) Why is c%» ringiensis considered suitable for developing G.M. plants ?
(b) Explain how 1t"has/been used to develop G.M. crops.

AT $ifEia e F AT § -3 § W7 A ¥, TEERT | I WER
safed # T e A R-AEE Al ¥ Iwfd F R g § =& S w6 R
I e ?
o
(@) RS wUART N fEkE F0 % [T e g B ST @ A
S @ ?
b 3 AT Faka 1Y fEfed #@ § 59 aw s a2, 9neRe |

10



30. What is semiconservative replication of DNA ? Explain how it was experimentally proved. 5
OR

(a) A true breeding pea plant homozygous for axial violet flowers is crossed with
another pea plant with terminal white flowers (aavv). Work out the cross to show
the phenotypes and genotypes of F, and F, generations along with the ratios.

(b)  State the law that Mendel proposed on the basis of such a cross.

DNAWMWWW%?WWWﬁMWWMW
a1 7 §ugnsq | |
g

(@ & W@ 79 FoFai WeX & O @, S oiE ST e & fau wngmst 9 @
I R F WY F Wy el Iy G T WA A (aavv), TEOT FAT T4 |

T R0 F A AR AW 5 F, a0, Wl e
F-F1 A T WA @ I Iga o fafaw | .
(b) F9 TFR & THHOT & MR W Hed 3 fqw fram & wwqa fova |

O
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